©® HEII T RIT B H RN

@20 @25

o v s o BB ASAEWIS WA -
; - OEETE -
e ® SEFAERTERZPE)\BIEREHEM -
) @32 240 * @50 * @63 * @80 * 3100

o 25

o
® S ETIE S
@32~-@1001958E8 -




5

YEEIAZR R EEmER
L @12 - @16 ~ @20 - @25 - @32 - @40 - @50 - @63 - @80 - @100
e ZR
Rz 1.47MPa (15kgflcm?)
BAERRS 1.0MPa (10.2kgf/cm?)
ERAEE 50-500mm/sec
3 o= _ o o = 8| %5 ik
i BRI | 1056 1600 (Ralferk it
BREH H EREEEE SR
1858 rEE
NN AT (EER )
TESAZ wege: L0 mae: tL[4

Eimdb DX

[F—F—=our [—F—mw

N(Kgf)

VESHTS Tt ZERMEE I kgf/cm?®
0.3(3) 0.5(5) 0.7(7)
Out 1.13 34(3.5) 57(5.8) 79(8.1)
@12 o8 In 0.85 25(2.6) 42(4.3) 59(6.0)
Out 2,01 B0(B.1) 101010.3) 141014, 4
16 8
@ 4 In 1.51 45(4.6) 7507.7) 106(10.8)
Out 3.14 94(9.6) 157(16) 220(22.4)
2 1
@20 @10 In 2,36 7117.2) 118012 165(16.8)
Out 4,91 147114.9) 245(24.9) 344(35,1)
225 g12 In 3.78 113011.5) 189(19.3) 264(26.9)
Out 8.04 240(24.5) 400040.8) 560(57.1)
@32 216 In 5.03 180018.4) 300(20.6) 420142.8)
Out 12.56 370(37.7) 620(63.2) 870(88.7)
a40 16
In 8.98 310(31.6) 520(53) 730(74.5)
Out 19.63 580(59.2) 980(99.9) 13700139.7)
@50 @20
In 16.49 490049.9) 820(83.6) 11500117.3)
Out 31.16 930(94.9) 15500158.1) 2180(222.3)
@63 @20
In 28.02 840(85.7) 14000142.8) 1960(200)
Out 50.24 15000150) 2510(251) 3520(352)
@80 a5
In 45,33 13600136) 2270(227) 3170(317)
Out 78.5 2360(236) 3930(393) 5500(550)
@100 @30
In 71.52 2140(214) 3570(357) 5000(500)

RETEmmM)
100

Js12 40 47 54 61 68 75 - 100 - 113 - - 2
JS16 61 72 B3 94 105 116 - 128 - 145 - - 3
JS20 81 112 132 152 173 193 213 234 254 274 306 370 7
JS25 118 139 160 181 203 224 245 266 287 309 399 478 17
JS32 157 180 202 225 248 270 292 316 339 362 471 5786 40
JS40 272 284 3186 338 360 382 404 426 448 470 587 717 40
JS50 - 401 438 476 514 551 589 626 663 701 951 11389 B8O

JSB3 - 647 687 727 787 807 847 8987 927 967 1213 1424 80

JSBO - 1433 1534 1624 1714 1804 1884 18985 2076 2166 2830 3296 160
JS100 - 2208 2314 2420 2526 2632 2738 2844 28950 3056 3801 4138 270
JSR12 50 57 G4 71 78 85 94 - 108 - - - 2
JSR16 71 82 94 105 1186 127 121 - 137 - - - 3
JSR20 104 123 143 163 184 204 224 245 265 286 311 375 7
JSR25 129 150 179 192 214 235 256 278 298 320 406 485 17
JSR32 25689 271 283 295 318 340 363 386 409 436 482 587 40
JSR40 341 365 389 412 432 452 474 496 518 544 610 730 40
JSR50 - 497 532 566 607 6547 682 716 751 806 965 1153 80
JSRE3 - 727 767 806 850 894 834 8973 1013 1081 1235 1446 B8O
JSRBO - 1603 1687 1791 1885 1979 2074 2168 2263 2395 2860 3326 160
JSR100 - 2518 2577 2635 2744 2852 2856 3059 3163 3313 3831 4348 270

3 12.02



o

CHIANTO
E s
JS R 32 X 50 B LB TD-A93 2
| | | | | | | |
* 3 MyRXAE || B &= 17 2 REIRTEE | BIESIHE
| | | | |
— TD-A93
JS tRien _ @12 5~50mm TD-MON \ 1 1{&
e @16 5~50mm TOMP == | 2| 2f8
TN 1 = P
@é @20 || 5~100mm e
@25 5-~100mm TDMENV
@32 5~100mm TD-M9PY
@40 5~100mm
@50 10~100mm TD-11 TA-11N
@63 || 10~100mm TOAtP g TP
@80 || 10~100mm ,
@100 10—~100mm @32~@1001
RSS2 EE41.01 -B143.01 ~843.03
-[8l44.01-
A &8 18 S
) ©12~@25 . 932~3100 D NFE

9008

P00 ©QOPOO 0006

T g o i%”g o

e
e e = e

=l

EHFX HE—E R
N3 g
(1) H & sEas o\ | SEES CIE-PHES)
2] E B imas @12 APA12 DYRO06K SM10
. - 53 i 216 APA16 DYRO8K SM14
o BB B 3 @20 APA20 DYR10SK SM18
(4) EIE fiaT=rrs @25 APA2S DYR12 sMm22
[5) 0 R B 3 232 APA32 DYR16 sM28
(6 BE @40 APA4D EM1620 SM36
(7] i % SEgIE @50 APA50 EM2025 SM46
(8) EEEME NBRIJiZZ @63 APAB3 EM2025 SMB0
9] EIEED) NBRIVIZIZ @80 APASO COR25 SM75
K O) i NBREIIZIZ @100 | APA100 DRP30 SM95

3 12.03



AERT &

O EER
® @12

H @0
] ‘Ial
(B L

2-M5x0.8 ek itmmE o
X

O NI

~
R

® 216

o SEERFIRNF P
HE| C | X |eD H L
@12 |10.5| 12 | B | M5X0.8 | 14
@16 | 10 | 12 | 8 | MBX1.0 |155
@20 | 12 | 14 (10| MBX1.25 |18.5
@25 | 16 | 185 |12 |M10X1.25| 22.5
@32 |20.5(23.5|16 | M14X1.5 |28,5
@40 |20.5(23.5|16 | M14X1.5 |28.5
@50 | 26 |28.5|20| M18X1.5 |33.5
@63 | 26 |28.5|20| M18X1.5 |33.5
@80 |32.5|35,5|25 | M22X1.5 |43.5
100|32.5| 35,5 |30 | M26X1.5 |43.5

E
@0

® @20~025

HH%EC 8-N Q 2-p F
B-HEAR N1 3, \

DR

® 232~2100

\\NH
Va
\

[5]n]

LN
SN
N
&/

&

N
B
R Tt My
Y=Y
K L B+{T#E
M A+1TE
E oJ
W

HEEEmGQDEF H (ol | J KL M N alN1 P Q|lw |z

@12 20.5| 17 |25.5/22 | 8| B |25/ 5 | M3X0.5 (32| - | 5 |3.5/15.5| M4X0.7 | B.5%4 |M5X0.8|7.5| - |-
@16 | 5~50 |20,5| 17 |25.5|22 |8 | B |29| 5 | M4X0.7 |38 | - | 6 [3.5| 20 | M4X0.7 | B.5%4 |M5X0.8|7.5| - |-~
@20 |5-100 | 24 |19.5| 34 [29.5|10|10|36|5.5 | M5X0.8 |47 | - | 8 |4.5[25.5| MBX1.0 | 97 |[M5X0.8/ 9 | - |-
@25 |5~100 |27.5[22.5|37.5|32.5|12|12|40|5.5 | M6X1.0 |52 | - |10| 5 |28 | MBX1.0 | 9%7 |[M5X0.8/11 | - |-
232 |—> 30 |23 | 40 | 33 |16|16|45 5 MBX1.25|60 |4.5|14 34 | MBX1.0 | SiE7 MOX0.8112.5 49.5 (14
10~100 7.5 ) ) ) Re(PT)1/8"10.5) "

@40 | 5-100 |36.5|29.5/46.5|33.5/16|16|52| 8 |MBX1.25|69
@50 (10~100|38.5|30.5|48.5/40.5|20|20|64[10.5|M10X1.5| 86
@63 |10~-100| 44 | 36 | 54 | 46 |20|20|77[10.5|M10X1.5(103 18 B0 |M10X1.5| 14#%10.5 |Re(PT)1/4"| 15 | 84 |22
@80 |10~100|53.5|43.5|63.5(53.5|21|25|88[12.5|M16X2.0(130 22|10| 77 |M12X1.75|17.5%13.5|Rc(PT)3/8"| 16 | 104 |26
@100|10~100| 65 | 53 | 75 | 63 |27|30[117| 15 |[M20X2.5[156/6.5|27]|12| 94 |M12X1.75 [17.5i%F13.5|Rc(PT)3/8"| 23 [123.5/26

o I @32~@1001371275 * 1000VRERANBR TV IREMEMANBR Y —IKE -

7

14| 7 | 40 | MBX1.0 9iE7 Re(PT)1/8"| 11 | 57 |15

18| 8 | 60 |[MBX1.25| 118 |Re(PT)14'[10.5| 71 |19
8

[ R NE NN

3 12.04



o

CHANTO
AR E
o BZRHZ(LB) O NFE
° @12~025
¥ L -
+\ % & == j
%j \ : {__ [ J_17 1 __} {__
| II4-{3LD X Yi:i‘r’ X LG HimiRiE L1 |
| LS+{788
A+{TEE
* 932~2100

L B+1{Ti8

LH

G

LT

B-FE5 @ N X Y

=

4-@LD LX

LS+17#8

A+1TIE

T el n e v

(mm | A | B |LS|A|B|LS

@12 | 5-50 (35.3| 17 | 5 |40.3| 22 | 10 (13.5/ 24 | M4X0.7 J6.5%4 8 |45|4.5|2.8|17| 2 |34 [29.3 44
@16 | 5~50 |35.3| 17 | 5 |40.3/ 22 | 10 13.525.5| M4X0.7 @6.5/%4 B8 | 5 |45|2.8|/19| 2 |38 [33.3 48
@20 | 5~100 |41.2(19.5| 7.5 |51.2|29.5|17.5[14.5[28.5) M&X1.0 @9F7 9.2|5.8|6.6| 4 |24 |3.2| 48 |41.8| 62
@25 | 5-100 |44.7|22.5| 7.5 |54.7|32.5(17.5 | 15 |32.5| MBX1.0 D9FR7 10.7|5.8|B6.6| 4 |26 |3.2| 52 |45.7| 66
@32 10"15100 47.2| 23| 7 |57.2/ 33| 17 |17 |38.5) MBX1.0 | @9%7 |11.2|5.8|6.6| 4 |30(3.2|57 |57 | 71
@40 | 5~100 |53.7|29.5|13.5|63.7/39.5|23.5| 17 |38.5 MBX1.0 DOFE7 11.2| 7 |6.B| 4 |33 |3.2|64 |64 |78
@50 [10~100 |56,7|30.5| 7.5 |66.7/40.5/17.5| 18 |43.5| M8X1.25 | @11&#8 (1478 | 9 | 5 |39(3.2|79 |78 |95
@63 |10~100 |62.2| 36 | 10 |72.2| 46 | 20 |18 |43.5 M10X1.5 | @14;%10.56 |16.2/ 8 | 11| 5 | 46 |3.2|95 P1.5(113
@80 [10~100| 75 |43.5|13.5| 85 |53.5/23.5|20 |53.5M12X1.75/@17.5%13.5/19.5/ 11 | 13| 7 | 59 |4.5|118|114|140
@2100|10~100| 88 |53 | 19|98 | B3 | 29 |22 [53.5|M12X1.75[@17.5%13.5| 23 2.5 13| 7 | 71| B [137|136|182

® G112@32~@10013 /275  100FIERRIA + B« LSRIRELMBEMA « B  LSR—HE-
3 12.05



ARRY X

) B/ ZH (FA/FB) O NFE
* 912~@25 -

5 oz ] | l j

@ 1| i

ERRIR (FB) F B

_ I

* @32~3100 ’JP g;# 4{%\ ¢ H
T ﬁh . ﬂ§ fl
AN NI ]
Fz L — B+
# L3 (FB)

1712 PEHERY TEEEY

ﬂﬁ[mm]AA)(BAA)(B

L ‘LX‘ L\ ‘BFD‘FT‘FV‘FX‘FZ
@12 | 5~50 |30.5| 26 | 17 |35.5| 31 | 22 [13.5|3.5| M4X0.7 | 4.5|5.5/25 | 45 |55 | 24 | 14 -

@16 | 5~50 |30.5| 26 | 17 |35.5| 31 | 22 [13.5|3.5| M4X0.7 | 4.5 |5.5| 30 | 45 | 55 [25.5|15.5| -
@20 |5~100| 34 | 32 |19.5] 44 | a2 |[29.5/14.5|4.5| mex1.0 |6.6| 8 | 39 | 48 | 6O |28.5|18.5] -
@25 | 5~100 [37.535.5|22.5|47.5/45.5|32.5| 15 | 5 | MBx1.0 | 6.6| 8 |42 | 52 | B4 |32.5|22.5] -
@32 1o~5100 40 |38 |23 |50 |48 |33 |17 | 7 8

@40 | 5~-100 |46.5/44.5|29.5|56.5(54.5|39.5| 17 | 7 | mMBx1.0 | 5.5| 8 | 54 | B2 | 72 |38.5|28.5| 40
@50 |10~100|48.5/47.5|30.5|58.5/57.5|40.5/ 18 | 8 [M8x1.25 |6.6| 9 | 67 | 76 | 89 |43.5|33.5| 50
@63 [10~100| 54 |53 | 36 | 64 |63 |46 |18 | 8 [M10x1.5| g | 9 |80 | 92 [108[43.5|33.5| &80
@80 [10~100|63.564.5|43.5|73.5(74.5|53.5| 20 | 10|M12x1.75| 11 [ 11| 99 [116[134|53.5|43.5| 77
@100[10~100| 75 | 76 | 53 | 85 | 868 | 83 | 22 |12|M12X1.75] 11 |11]|117|136|154|53.5]43.5| 94

© f{E@32~F100771275 ~ 100H0IR#EA - B - AXRSTIRELEERIA - B » AXRS—H%E&-

MBX1.0 | 5.5 48 | 56 | B5 (38.5|28.5| 34

3 12.06



4

CHIANTO
ABRY =
_ mE&(CB)
@CD H10 iR iR
° @12~925
AT A fj
A N
v an ] N (A E—
- &j/ u ] N A
m AR — ;
N7 |87
FT ox e L1
L B+{T12 CW__| AR cz ™
C+iTE
A+iTE2
° @32~2100
@CD H10
[T
—:ﬂ ) e
) &
— T~
3 ¢ : )
L 2 N
2N (R
N2 S
FT ox ¢
L B+iT1E CW _|RR E:zj"ﬂ
C+iT7i8
A+TEE

FT
@12 | 5~50 | 40.5 17 | 345 | 455 | 22 395 | 5 14 5 10 4 3.5 | 14 6
@16 | 5~-50 | 41.5 17 | 355|465 | 22 (1405 | 5 15 B.5 | 12 4 3.5 |15.5 6
@20 | 5~100 51 19.5 | 42 61 29.5 | B2 8 18 8 16 5 4.5 [18.5 8
@25 | 5100 | 57.5 | 22.5 | 47.5 | 67.5 | 32.5 | 57.5 | 10| 20 10 20 5 5 [225] 10
@32 | 5-100 60 23 50 70 33 60 10 | 20 18 36 9 7 1285] 10
@40 | 5~100 | 68.5 | 29.5 | 568.5 | 78.5 | 39.5 | 8.5 | 10 | 22 18 36 6 7 1285 10
@50 |10~100| 80.5 | 30.5 | B6.5 | 90.5 | 40.5 | 76.5 | 14 | 28 22 44 7 8 |[335)| 14
@63 |10~100| 88 36 74 98 46 84 | 14| 30 22 44 8 8 335 14
@80 |10~100|109.5| 43.5 | 91.5 |119.5| 53.5 |101.5| 18 | 38 28 56 | 10 10 43,5 | 18
@100 [10-100| 132 53 110 | 142 63 120 |22 | 45 32 64 | 13 12 143.5| 22

® {E@32~0100175275 ~ 10080 RA « B« CRTIREMAMA < B - CRI—HE-
3 12.07



SERIR

°* 212~3100 o [RfESR:TD-11
@} 2l © )
G = = 1]
% <5 A — O C . )
(@
ﬂf/ IR(EEE
RS Al R

12 VEED B

@50 12.5 45 :
@63 12.5 9 11.5
@80 16 ; |
2100 22 : |
BT RNRESER
. @12~@25 ) @32~2100 %m%%&
% — -
«g.\\ﬂﬁ.@- @ |
’ é ,...‘, - o .-_:4;‘“-;;’:%
T
.,._ \ '\@@%
. \¢ . .
v 4

e






